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1.

fffeg & & @9-ar  Em
e @ ddfee 78§ 7

1) GHE H I

2) H=~Iar &1 |

3) i @ Ew

4) Yd @ |

Frefafad & & a9-a1 gfe &1 @
fepaTees Terer & ' 7

1) g H b fSSET gL

2) TN H YE-TWT T

3) A HH @S T

4) WHS-faR gl

Freifafad & | dH-a1 ag e 56K
H 9 T T ?

1) ™ 999

2) fasveme® usH

3) gaHTH U

4) R wE g

st & e faere Reid & oTER,
femeTRTa B :

1) Afve gurdare # stawen
2) e Afcrpar @t STae
3) NI Skl @l STae
4) TR Afqwar H orae

[ Level-2 /1205 ]

Which of the following laws is not
related to heredity ?

1) Law of Similarity
2) Law of Variation
3) Law of Regression

4) Law of Progression

Which of the following is not a
performance test of intelligence ?

1) Koh's Block Design Test

2) Alexander's Pass Along Test
3) Saguine Form Board Test

4) Stanford-Binet Test

Which of the following is not an
objective type question ?

1) Matching questions
2) Analytical questions
3) Multiple choice questions

4) Blank space questions

According to Moral Development
theory of Piaget, adolescent period
is:

1) Stage of moral realism

2) Stage of morality constraint

3) Stage of heteronomous morality

4) Stage of autonomous morality

P.T.O.
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frfafeg & @ d9-a fdvar RS
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?ﬂﬂﬁ HishaTees Sfae § Hefid 787
1) SeRAUIAT (TAeE &l &)

2) Sl

3) Sigar

4) GO

gt Rreaetl & g # de-an

HI TE T& T 7

1) HI3 6 & AR e TH-HAM
T Bl

2) i T faRanett & @y
T foae g

3) s framd ot gHuAr H
FiFaal P ST B &

4) RS PTAC Haw STgEiRERd
% 2 aRem 2 8

e Th S=d SN diEl SN g ue
dor oY ®few & Jur SEd H9H @l
e fl Afe &, @ dEd @
Hi-d1 fafYy Suger enfi ?

1) fawm fafy

2) o faf

3) affawH fafy

4) Ul fafy

gt el =t & o -
farerer g1 wmSE 7@ erm ?

1) A § Sfeq

2) I 9 o

3) W § ST

4) G § W

[ Level-2 /1205 ]
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following
characteristics is not related to the
concrete operational stage of the
Cognitive Development theory
propounded by Piaget ?

1) Reversibility

2) Serialization

3) Animism

4) Conservation

Which statement is not correct in

context of individual differences ?

1) Two persons are not exactly
same.

2) Individual differences are
deviation in regards to
characteristics.

3) Individual differences
distinguish individuals in their
totality.

4) Individual differences are the
sole result of heredity.

When the lesson to be learned by
a child is long and difficult and
requires a lot of understanding,
then which method of learning will
be appropriate ?

1) Spaced method

2) Whole method

3) Massed method

4) Incidental method

Which teaching maxim is not
beneficial for the learning
disabled children ?

1) Simple to complex
2) Abstract to concrete
3) Direct to indirect

4) Known to unknown
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1) fopr STgdiRrRT T§ qaiERer
SR Bl

2) s Yot Q@i e ol

3) SWWWWWW
[

4) o W= ¥ fofe @ o)
5T 2

el eosT® & T &
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FH H FH AT oKl § 7

1) dEFmeen 2) fEw

3) TN 4) =

Freifafad & & dH-df Reeiaen

TS fabrE Bl T aH st
7 87

) " & ' s
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2) 41 |HITE q9ed

3) TEEH &l @S

4) -Gl

PEAH & A faEE | B
F-A RN GRERSE  Afewar B
WX 9§ e 78 § ?

(a) AfkaE @ fa=w

(b) OB Srdadia® Hag

(c) HMITE FqeT ST @

(d) I oTEY AR AR

SRR

787 F< H =TI HIT

?- : - -

1) W @®d) 2) (b) W (0
3) @TW@ 4 ()W ()
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Which of the following is not a

principle of development ?

1) Development is the product of
heredity and environment.

2) Developmental pattern is
predictable.

3) Development
path.

4) Development proceeds from
general to specific.

follows linear

According to which psychologist,
the role of social and cultural factors
are important in the cognitive
development of children ?

1) Vygotsky 2) Piaget
3) Bruner 4) Hull

Which of the following is not a
common characteristic of social
development in adolescence ?

1) Harmonious relationship with
parents

2) New social grouping
3) Search for identity
4) Hero-worship

Which stages of Kohlberg's moral
development theory are not related
to level of conventional morality ?

(@) Individualism and exchange

(b) Good interpersonal relations

(c) Maintaining the social order

(d) Social contracts and individual
rights

Choose the correct code :

Code :

1) @ &®m) 2) (b) & (o)

3 @& @ 4 (¢) & (@
P.T.O.
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13. oYM U4 f¥aq Sl qHas gishanett
% TN HIEAT S © -

1) SIHMHS HEAT
2) THEH GRET

3) GAMTHS GG
4) WEES HEA

14. 9o aIftrm & g=d § HE-d
freror-erftr iy fqenlRiat & fo
Taifes TR B ?

1) &3 999

2) A

3) AN

4) HAHE 3aad

15. Yodfa & offeed fawiq H @i
Ud PR FETH B TH FIEEA B
BT BRE GHD @9 § T
T w7

1) TETh & TEADBOT B IYYH
Y

2) &S H TGN
3) [afEa ardmawe
4) UH B FHI

16. F=fofad & ¥ fH-a1 F R
;ﬁmq UBRT N UNIad 7&f e
?

1) e & aiis &
2) ek 1 AFRS @Ry
3) farerh o fowgasg =
4) farers 1 TS BT
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Learning through mental
processes like attention and
reflection is called :

1) Imitative learning
2) Motor learning
3) Cognitive learning

4) Aiffective learning

Which teaching learning strategy is
most useful for students in context
of social learning ?

1) Field trip
2) Lecture
3) Experiment

4) Brain storming

In Pavlov's conditioning theory,
which factor does not positively
affect the conditioning between
natural and artificial stimuli ?

1) Appropriate timing of stimuli
presentation

2) Repetition of stimuli

3) Controlled environment

4) Lack of motive

Which of the following factors does
not affect the teaching learning
process ?

1) Physical appearance of teacher
2) Mental health of teacher
3) Content knowledge of teacher

4) Communication skills of teacher
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frefefe & @ @991 #°®
WEaONT HH & TG S B
[T B gIfaq 78 e ?

1) TN
2) TR & A Al B ARG

T
3) gHe Y .

4) Sf=TE Tt

diFes® & oftH Rreid & FgER
fpe drem & fam § et ® 7

1) TqEAr & fEE

2) M H EH

3) UHE @ f+1IH
4) g gfdihar 1 M

Frefafad & @ SF-a1 ™ SARERen
% il @ S gfauesl & deg |
w7 T 7

REReTE i gicae®
1) 9o gdi Rsid Ui e

2) STEALIHAT A HE

3) Jue i gead

4) Iuqre STIRET EEIKES
Rt

s e & ad §

1) A &9 9 dd gea & fau
faremr

2) R F== & faw R

3) UMM W@ R T » WU
faremr

4) 99 g 3 9 R
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Which of the following factor does
not influence the development of
child under environmental factors ?

1) Nutrition

2) Mental stress of the mother
during pregnancy

3) Accidents

4) Endocrine glands

Law of use' and 'Law of disuse' is
related with which law of learning
according to Thorndike's learning
theory ?

1) Law of readiness

2) Law of exercise

3) Law of effect

4) Law of multiple response

Which of the following pair is not
correct regarding motivational
theories and their proponents ?

Motivational Theories Proponent

1) Instinct theory Atkinson
2) Need Hierarchical Maslow

theory

3) Drive theory Woodworth
4) Achievement Mc'Clelland
Motivation theory

Inclusive Education means :

1) Education for socially deprived
children

2) Education for disabled children

3) Education for
disabled children

4) Education for all children

P.T.O.
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https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

[8/A]

21.

22.

23.

24.

frfafeg & & #H-a1 g9l SAREm
H U fosia 7@ & ?

1) SAREReT

2) AR Tgd

3) faisea Sufeufa

4) gRge

M & IER, T Qe an et
P JoEOH WX B AM T o
S T S ST Amey ?

1) U SAEH
2) THE HIEN A
3) I\ Jifem
4) fo¥es oAt

e & B Reid 4 gfe @
e 9 vegell W & fam T B ?
(a) TTHI

(b) SIS

(GREERIRED

(d) HEwiEH

7&] T H AT BT :

&< - .

1) (@), (b) W (c)

2) (b), (c) W (d)

3) (a), (b) T (d)

4) (a), (c) T (d)

gt iy 3 cIftFTeRdt & fow BT
Jfereh EETET SUHT T&T © 7

1) @R

2) SUARIAS e

3) I FH

4) el fRrEor Ay
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Which of the following is not a
principle of effective learning ?

1) Motivation

2) Individual approach

3) Passive attendance

4) Feedback

According to Gagne, to what
highest level of learning should a
teacher strive to take students ?

1) Concept learning

2) Problem solving learning

3) Rule learning

4) Discrimination learning

Which three aspects of
intelligence are emphasized in the
triarchic theory of Sternberg ?

(a) Componential

(b) Experiential

(c) Operational

(d) Contextual

Choose the correct code :
Code :

1) (@), ®) & (c)

2) (b), (c) & (9)

3) (a), (D) & (d)

4) (@,() & (d

Which educational intervention is
not suitable for slow learners ?

1) Acceleration

2) Remedial teaching

3) Drill work

4) Cooperative teaching method
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25. [hAREET # Wigd FHEISTh Faer
Yot & o g8 %2 & 99 &g
() S FA
(b) TG
(c) FE-ivadd
(d) Sfgare
1) (3 @ (b)
2) (b) T (d)
3) (a), (©) T (c)
4) (3), (c) T ()

26. HAq U9 AUH g B FE A
% .

() TER TAET Q0

(b) SUgH @ d 9w e
RIS

(c) s T He-JMerd AN W w0
THH BT

(d) Pad AMerp Iuwfeer AT

7&7 F< B TIT HIT

1) (b) T (d)

2) (b) T (c)

3) (a), (b) T (c)

4) (b), (c) T (9

27. I8 B0 S ‘B GE’ B TEM@m adl
T OIR HE % fou foefEt @ o e
qEERT & W ik give
Yl 8, I8 FHea © -

1) faferse forem
2) wtashia farem

3) Wehichel f3rem
4) guEsh fwEm
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26.
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Choose the correct code for the
approved social behaviour pattern
in adolescence :

(a) Leadership skills
(b) Empathy

(c) Ego-centrism
(d) Stereotyping
Codes :

1) (@ & (b)

2) (®) & (@)

3) (@, ) & (c)

4) (@, () & (d

The true meaning of continuous
and comprehensive evaluation is:

(a) Taking frequent tests

(b) Taking continuous tests at
appropriate intervals

(c) To evaluate scholastic and co-
scholastic both aspects

(d) Measuring only educational
achievements

Choose the correct code :
Code :

1) (o) & (d)

2) (b) &(c)

3) (a), () &(c)

4) (b), (c) &(d)

The education which promotes
leaming by doing' and ensures the
students interaction with their
environment to learn, that is known as :

1) Special education

2) Progressive education
3) Integrated education
4) Inclusive education

P.T.O.
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28. gfeaifym fenfEt & fw @F-d
T geme 9t SuErn 78
grlr ?

1) S qH
2) Sl fhars
3) v Rgw
4) IW T HARE

29. AR I THIGT B A [l
PRbI & F&T R BN TIT BT

(a) AR

(b) TEHAT

(c) B

(d) g™
W”

1) ()W (d)

2) (a), (b) T (d)
3) (a) T (c)

4) (a), (b), (c) T (d)

30. U% S Ffowg ol Fod & [Q qon
AR 9 ¥ X H § g9en Sa
I ®
1) feeaieRma
2) fewiforan
3) feanfthar
4) e

28.

29.

30.
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Which teaching support material is
not useful for visually impaired
students ?

1) Braille materials
2) Talking books
3) Film strips

4) Embossed map

Choose the correct code of the
following factors, which affects
learning :

(a) Motivation

(b) Aptitude

(¢) Interest

(d) Attention

Code :

1) (©)&(d)

2) (a), () & (d)

3) (@&(c)

4) (@), D), () &(d)

A learning difficulty that create
problem for a child to distinguish
letters and words is :

1) Dysplasticia
2) Dyslexia

3) Dysgraphia

4) Dyscalculia

[ Level-2/1205]
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fraer : fefafad gl & SR 39 & e @98 S faske g

31

32.

33.

34.

. AW = & d@Eg § FE-a g
oGIT B 7
1) 9vel - fosia
2) fory - iy
3) THYY - aHH
4) dsEr - feas

T H HH-G7 THEIE ST
T & e ghfa 787 8 7

1) TSRO - Y YT

2) [ - AR TYEW
3) @ifehd - HOT TYEY

4) RAMEIRT - FIEH TGET

= & | diF-a1 & g o g
q gAfera 787 & ?

1) Sfid - o EiY

2) TAgs - o €Y

3) WeRW - gha @Y §f

4) TGS - o1 @) 9y

O, qA T IR A9 B HA
AR WM ©

1) TR, &S, A

2) &, %3, TIY

3) %US, &, D

4) &S, %S, T

[ Level-2/1205]

35.

36.

31.

38.

o ey 1 e QEehlics h
e T& 8 ¢

1) TH EeThY = T

2) T® TH HTN MA TEl I B

3) €l EFT S STEgY S

4) AAU® IO B BE]  H

e

A9 THH GO T SO AlbI B
el e ®

1) Ted @ 9% § A S

2) STFYSIM Ga< Bl B

3) AW & G R B Fen A
4) I R FH FA

I % U T q= & ey |
HI-91 JH OFGTT & 7

1) Rl 9 & T & - gl
2) @ et 3 9 g1 & - o

3) FE HH B B g0 - b

4) foor oIy @i e =87 - fsinm

g foehea & weal § A YRS
T & ?

1) Geio, el
2) qgaE, grad
3) g, Wt
4) TEHIT, GHATOM
P.T.O.
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39.

40.

41.

42.

g e PREO-HERAT
E-JH H FAL: 7o 7Y © 7

1) X, ¥

2) %I, Y

3) foli, (@

4) Fu,

et 4 @ a-ar 9= ‘agw @
e 78§ ?
2) P

1) 99
3) R 4) FER

gﬁw%ﬁﬁaﬁaﬁﬁ—wzﬁww’w

?

1) FE T 9= 9 G5 @ g
wEifRd et 8, 39 fadwer #eq B

2) ‘9, &, T I 9,
MR EICEAREE L IR C L]

3) ‘B ¥ HE B Ted & -
TEaEs G99 H ST D
4) Hedaresh GO H e 9% @l

51 0 I 7 | 2 S

gw%ﬁﬁaﬁﬁ?—wzﬁaﬁWﬁ

?

1) fqaras el & YAN €ed
(ol & otfafed) whae #
2T B

2) 3, TR, & S Aara®
T B SEET 2

3) GoEE®  q A
gﬁaﬁzﬁw%é’rﬁa’qﬁaﬁ
|

4) v, witw Sw At
ATaarah Hsl & IAEL 2
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W & deg # dE-A g E
7 T 7

1) ¥ T ST BT - e
ERIC

2) HW T HE B W D -
IR FERCIEC R

3) W A el w=rg o -

PESCICCAR Rt
4) I8 @ F GIR W © -

ferotares gaa
frr # 9§ aF-a1 9= ‘oaES
dfesd g’ @ it 78 ® ?
1) g
2) BT
3) aged
4) JqA
S @ g @ fRE e @

T=E-H GFIT § 7
1) Y - e, Mo
2) M - e, =
3) T - T, Wi

4 ¥ - ¥ gd
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Direction : Answer the following questions by selecting the most appropriate option.

46. Choose the correct option that
gives the correct passive voice of
the given sentence :

Have they done the work ?

1) Have the work been done ?
2) Has the work been done ?
3) Had the work been done ?
4) Will the work be done ?

471. Choose the option that gives the
correct meaning of the phrasal
verb :

Turn out

1) to evict someone

2) to kill someone

3) toridicule someone

4) to give legal notice to someone

48. Fill in the blank with the most
appropriate modal auxiliary :
Your mother is seriously ill. You
........... leave for home at once.

(obligation)
1) needs 2) might
3) could 4) must

49. Choose the option that gives the
correct meaning of the given
phrasal verb :

Send for

1) start on a journey
2) reach to a decision
3) call someone in

4) improve

[ Level-2 /1205 ]

50.

51.

52.

Change the narration to Reported
speech and choose the right option :

I said to him, "Do you know when
she will go home ?"

1) Itold him if he knew when she
will go home ?

2) I said to him that did he knew
when she would go home.

3) I asked him if he knew when
she would go home.

4) I said to him that did he know
when will she go home ?

Choose the part of sentence which
is incorrect :

Has Sachin / not breaked / the
&) ®)

record held / by Bradman who

© @)

made 10,000 runs in his career ?
1) A 2) B
3) C 4) D

Choose the correct option for the
given one word :

Sinecure
1) one who lives by himself

2) an office with no work but high
pay
3) surgery without anesthesia

4) cure by naturopathy
P.T.O.
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53.

54.

55.

Fill in the blank with the most
appropriate meaning of the
underlined idiom :

Rakesh had to deal with all his
problems by himself, because he
didn't want to depend on his fair
weather friends.

1) Friends who come from rich
family.

2) Friends who are loyal only
during a time of success.

3) Friends with whom one lived in
one's college time.

4) TFriends who no longer live
with you.

Choose the correct tense form to
fill in the blank :

She jumped off the train while it

1) moved
2) had moved
3) has moved

4) was moving

Choose the correct tense form to
fill in the blank :

The Headmaster ............ to meet
you.

1) want
2) wants
3) is wanting

4) was wanting

56.

51.

58.

59.

60.

GET IT ON
Google Play

Choose the correct option to fill in
the blank :

........... had the police reached
than the thieves fled.

1) Assoon as

2) No sooner

3) Scarcely

4) Aswell

Choose the correct preposition to
fill in the blank :

He told all .......... the incident.

1) between 2) among

3) Dbeside 4) about
Choose the most appropriate

preposition to fill in the blank :

I am going home the day ...........
tomorrow.

1) in 2) on

3) after 4) at

Choose the most appropriate
preposition to fill in the blank :
Mohan gazed ............ the sky in
the hope of rain.

1) at 2) unto

3) Dbesides 4) into

Choose the option that gives the
correct meaning of the given
phrasal verb :

Give in
1) distribute 2) deposit
3) donate 4) surrender

[ Level-2 /1205 ]
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61.

62.

63.

64.

A, 7@ R | uftem # 8 {5 e
g T @ oA 2 fpl Tem © g
¥ gEHK 5 fRl Tem s, O a8
oA fg & dedl § o9 fpa fRem
T feerg B 7

1) RO-UiEE 2) IR-uiREd

3) I-w 4) sRO-gE

Fg fE H 9 § 'PROJECT' &l
'CEOPRT' @1 'PLANE' & 'ELNP'
ferEr ST 2, 9 'ORGANISED' &1 3dI
%S W H {68 SR foren S ?
1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS

qeh B TH U H, A I @B |
74 T B IE @& 9 124 WM W
g, aT ST W § WER 9Radd
fhor Sam B, @ A &1 I oW 4@
2291 WM & S B, O Ul § g
qSH P G ® ¢
1) 27

3) 33

% IRER ¥, A, X & [ 8, B, Y @l
U e, qM X 9 Z B SeT Y &, A
frfofag wemt & @ d9-a@1 &
fifteg &0 @ 98 7 B ?

1) B,A & Tl ©

2) B&H @ G2

3) X,AB

4) Y,Z P 9o

2) 31
4) 34
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61.

62.

63.

64.

A travels 8 km from East to West and
turns right and travel 2 km. Now
again he turn right and travel 5 km. In
which direction is he now positioned
with reference to starting point ?

1) South-West 2) North-West

3) North-East 4) South-East

If 'PROJECT' is coded as 'CEOPRT'
and 'PLANE' is coded as 'ELNP' then
the 'ORGANISED' will be coded
as:

1) ADEGIOSR 2) ADEGIROS
3) ADEGOIRS 4) ADEGIORS

In a row of boys, A is 7th from the
left and B is 12th from the right. If
they interchange their positions A
becomes 22nd from the left. How
many total boys are there in a
row ?
1) 27
3) 33

2) 31
4) 34

In a family, A is the father of X, B is
the mother of Y. The sister of X and
Z is Y. Which of the following
statement is definitely not true ?

1) Bisthe wife of A

2) B has a daughter

3) XisthesonofA

4) Y isthe sister of Z

P.T.O.
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65.

66.

61.

68.

69.

R o ¥ 77 Ge

0, 3,9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

afc A 3T RRem F 8 Rt SR @

et TWH ot 6 FpHl aaar & ae
g SI-Ud RS A geh 10 R

%ﬁﬁﬂ g, O A URPwE g & fa

ERURE 37

1) o f& 2) 8 it

3) 10 fat 4) 12 fFH

AR 10 R Reer & @ (: j af

I & 7 8 &7 &g B, o Sl d
% W B F 12 B A T FA B
foe fopom afoat @t sTaYgwRaT &R 7

1| D

1) 6 2) 8
3) 10 4) 12

W T O @ SR T B @,
e oREm 32 & & oIk Br @l
aia: Brear 6 &t B, afk B @ o
576 T ¥ B, A ITH SR ¥

1) 4 a9 2) 5 i

3) 6 gl 4) 8 I

e uh AT agys 9 R @

e 27 B, @ gHh gee @
e B

1) 6 2) 9

3) 10 4) 12
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65.

66.

61.

68.

69.
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Find the wrong number in the
given series :

0,3,9, 12, 36, 39, 42, 120, 360
1) 12 2) 39
3) 42 4) 360

If A walks 8 km South then turn
right and walks 6 km and again
turns North-East and walks 10 km.
How far is A from the starting
point ?

1) Okm 2) 8km
3) 10km 4) 12km

th
If 10 persons can complete (gj

of a work in 8 days, then how many
persons are required to complete
the remaining work in 12 days ?

1) 6 2) 8
3) 10 4) 12

The base of a right prism is a
triangle whose perimeter is 32 cm
and the inradius of the triangle is
6 cm. If the volume of the prism is
576 cc, then its height is :

1) 4 cm 2) 5 cm
3) 6 cm 4) 8 cm

If the number of diagonals of a
regular polygon is 27, then the
number of sides is :

1) 6 2) 9
3) 10 4 12
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10.

11.

12.

13.

14,

= |V

Qg erge A T B H, dfer @
WNIEET\H:J}HCI SPHR: 5 : 2 qUT 3 : 4
2, s:rﬁrarer@aﬁﬁ@}\.aﬁnm
wd B & 21 fRm P o %
gy S8 Sl @, 39 5 e aig A
qT T ST B STIA H & 7

1) 1:2
3) 2:3

2) 2:1
4) 1:1

I 7 cosec 8 — 3 cot & = 7 &I O
gOH =gl § &, @ 7 cot 6 - 3
cosec§ H TN 8 :
1) 3

3) 3/7

2) 5
4) 5/1

e Th g H, TH GHEg B ABC
fatited fam St &, BrYgst & ot &
g © wy YEel 8 s am
Pyt =i

1) fquqsTg Bygs

2) gHiEag Py

Uk HAER, TF a&g 15% @ W
ST 8, OFR SH1 SH 18 &0 i
g ST 2T, @ A9 18% & S S°
I W H TA (30 H) ©

1) 600 2) 540

3) 350 4) 380

Frtffed 2ol & J@ T @ ¢
DBC, KIJ, QOP, _? , ZXY

1) VUW 2) USV

3) UTV 4) VTU

[ Level-2 /1205 ]

10.

11.

12.

13.

14,

GET IT ON
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In two alloys A and B, the ratio of
copper and zincis 5 : 2 and 3 : 4
respectively. 7 kg of alloy A and 21
kg of the alloy B are mixed
together to form a new alloy. What
will be the ratio of copper and zinc
in the new alloy ?

1) 1:2 2) 2:1

3) 2:3 4) 1:1

If 7 cosec 6 — 3 cot 6 = 7 where 6 is
in first quadrant, then the value of
7 cot 0 — 3 cosec O is equal to :

) 3 2) 5

3) 3/1 4) 5/1

If an equilateral triangle ABC be
inscribed in a circle, then the
tangents at their vertices will form
another triangle is :

1) Scalene triangle

2) Isosceles triangle

3) Equilateral triangle
4) Right angled triangle

A shopkeeper sells an article at 15%
gain. Had he sold it for Rs. 18 more;
he would have gained 18%. The
cost price (in Rs.) of the article is :

1) 600 2) 540
3) 350 4) 380

The missing term of the following
seriesis:

DBC, KIJ, QOP, __? ,ZXY
1) VUW 2) USV
3) UTV 4) VTU
P.T.O.
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15.

16.

11.

18.

19.

80.

a gNcTh Gl H ST} 3 8, I
ST N H AN 369 B, A I
et & A §

1) 25 2) 27
3) 3l 4) 33

e & TH Anwd § e,
AR B 12 A JT AYEA H 5
T 8, @ A SEH AuEd 36 @, At
T B

1) 2706 2) 2736

3) 2796 4) 2766

gk A ‘¥R @, B ART @', C
‘M &’ T D PN & TR
Hd S, AW20C 12B8A2D 6
R §

1) 16 2) 18

3) 32

1) 4 fHi/A9e 2) 4.2 [FHI /AT
3) 4.4 [HHI/AYS 4) 4.5 [FHI /AT

fRu T feedl § & W & o
I

1) € 2) dmon

3) MR 4) qigld

gt 16-4=2,9-3=2,81-3=4
g, A 64—-4 F AN 8 :
1) 3 2) 2
3) 4 4) 6
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15.

16.

11.

18.

19.

80.

GET IT ON
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The difference Dbetween two
positive numbers is 3. If the sum of
their squares is 369, then sum of
the numbers is :
1) 25
3) 31

2) 217
4) 33

In a division sum, the divisor is 12
times the quotient and 5 times the
remainder. If the remainder is 36,
then the dividend is :

1) 2706 2) 2736

3) 2796 4) 2766

If A denotes 'divided by', B denotes
'added to', C denotes 'subtracted
from' and D denotes 'multiplied
by, then 20 C 12 B8 A 2D 6 is
equalto:

1) 16 2) 18
3) 32 4) 36

A person covers 12 km at 3 km/hr,
18 km at 9 km/hr and 24 km at 4
km/hr. The average speed in
covering the whole distance is :

1) 4 km/hr
3) 4.4 km/hr

2) 4.2km/hr
4) 4.5km/hr

Find the odd word from the given
alternatives :

1) Violin
3) Guitar

2) Harp
4) Flute

If16-4=2,9-3=2,81-3=4,
then the value 0f 64 — 4 is :

1) 3 2) 2

3) 4 4) 6
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1857 & fagle & M, Ffoeaa o
9 fpeq Teds # fafeyr feemi W
STHHOT foHar ?

1) THIA A

2) IHM Tl
3) HieX fe
4) TgE W

ERATN & AN TRISA B TNy R

1) SREA JEdr |§

2) Rgpa go |
3) feAr™ @I S Hear 4
4) g @ o=iRe @ |

gﬁqwnﬁﬁ@’ G F5 FRl R
?

1) i 2) R

3) WeETG 4) ST

g & ot dedia & ?

1) 95 2) 49

3) 143 4) 14

g & 9 R d, @ e
ST fpar T ?
1) dHa 2) gEId

3) HE 4) JYAR

godloTdodio & AT, S HIK
g efaen & T @ F

1) Sfo To dRo fheas
2) 4 JIwR g S
3) &I dlo To =shail
4) & HEEN U9
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84.

85.
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During the revolt of 1857, who
among the following attacked
British establishments in Rohtak ?
1) Tafzal Husain

2) Imam Ali

3) Mohar Singh

4) Harsukh Rai

The Morni hills of Haryana belongs
to:

1) Aravalli range

2) Hindukush range

3) Outer range of Himalayas

4) Inner range of Himalayas

In Haryana, where the Vulture
Conservation Centre is located ?

1) Jind 2) Pinjore

3) Mahendragarh 4) Ambala

How many Tehsils are there in
Haryana ?
1) 95
3) 143

2) 49
4) 14

In which district of Haryana, the
Khelo India Archery
ranking competition was organised ?

Women's

1) Sonipat 2) Panipat
3) Karnal 4) Yamunanagar
The UPSC Chairman, who

subsequently became the Governor
of Haryana :

1) Dr. A.R. Kidwai

2) Shri Muzaffar Husain Berney

3) ShriB. N. Chakravarti

4) Shri Mahabir Prasad

P.T.O.
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90.
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1) T wEd 3 AR
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4) TN &9

BRI § A9 gRRege ol he
IO HEH el R & 7

1) 9HI9a
3) g

AT & e o A B § 7

2) ST
4) FHEA

1) il S e
2) gfo TER e

3) ot s ggw

4) ZFdl FHAEY HSRI
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QO A0 & AW AT & 7

1) S W A"
2) G MG Y
3) & ACH A
4) &7 GIOT
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The Scheme, which is being run by
the Haryana government to
replace paddy crop with more
tradition crops is :

1) Meri Fasal Mera Byora
2) Meri Virasat

3) Mera Pani Meri Virasat
4) Hamara Dhan

Where in the Haryana, the National
Institute of Fashion Technology is
located ?

1) Panipat
3) Panchkula

2) Ambala
4) Kurukshetra

Who is the Chief Information
Officer of Haryana ?

1) Smt. Jyoti Arora

2) Dr. Jagbir Singh

3) Shri Vijay Vardhan

4) Smt. Kamaldeep Bhandari

Who among the following Sages of
Haryana was popularly known as
Puran Bhagat ?

1) Baba Mast Nath

2) Baba Gorakh Nath

3) Baba Chaurangi Nath
4) Baba Puran Nath
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6. U B JM, I G=h ¥ fraiRg &=t @ & 9| qrEe A 6. Answers to questions in answer sheet are to be given by

T’Sﬁ?ﬂ A %, S 5 < R R darkening complete circle using Black ball point pen as shown
O @@ ® @ below :

&Y B A T W T A S, IR S A @ # O @ ® ®

T TR § 9@ ¥ The answer will be treated wrong, if it is marked, as given below :
g ® & @™ g ® @

R TH Y T GE B A AT T A YR I AT A If you fill more than one circle it will be treated as a wrong

ST answer.

1. 6 Hﬂq-gﬁﬂ?ﬂ ¥ 39 waee & fe & T@ Tt e W E B / Rough work should be done only in the space provided in the
Question Booklet for the same.

8. T IW 397 OMR IR T& T & A | T IR SAMYEH i X I Tae o @ o0 (FHe wgs) H TAT Mg &1/

The answers are to be recorded on the OMR Answer Sheet only. Mark your responses carefully. Whitener (white fluid) is not
allowed for changing answers.

9. UF U & fow Ru U AR e § & ot faeey 3 T OMR ST W W F99 T g9 & & [0 T FM a6 @Re 1 W
Tp d I JifFT B B 9B IY To Tl o Gl %I / Out of the four alternatives for each question, only one circle for the most
appropriate answer is to be darkened completely with Black Ball Point Pen on the OMR Answer Sheet. The answer once marked is
not allowed to be changed.

10. =t gifaa & % 50 oW % B Al T I Ud 39 W A I PN T am ot ot i St W § fEiRa e
% oifafted o= 9 fo’dl / The candidates should ensure that the Answer Sheet is not folded. Do not make any stray mark on the
Answer Sheet. Do not write your Roll No. anywhere else except in the specified space in the Answer Sheet.

11. J-JKH T S T B ANEE T H, F@ie b 9 oRRefy § [peT-gRae S T & BHE 5 R @ R @
@3%_{] {ﬂ'& a9+ gﬂ?ﬁﬂ T Iuey & Eb'@'lg vn@fn / Handle the Question Booklet and Answer Sheet with care, as under no
circumstances [except for discrepancy in Question Booklet and Answer Sheet Serial No., another set of Question Booklet will not
be provided.]

12. QQ:T—W/BT‘R T 7 ﬁ"\’ T A B 1l e ql% | sEir =@ § € / The candidates should write the correct Number as
given in the Question Booklet/Answer Sheet in the Signature Chart.

13, ol B qlen St/ ¥ 9N w Ol UEEM U & SfaRed Rl SR @ ured-anen, a1 ST FIST 1 ufE, T, AeEEd
'#Ff, Wﬁ% JUHT AT FhE ST TR & G B S AT SUART B ﬂfﬁﬁ &t | / Candidates are not allowed to carry any
textual material, printed or written, bits of papers, pager, mobile phone, electronic device or any other material except the Admit
Card and Identity Card inside the examination hall/room.

14. WA gRT ‘1@ TN W TG A U AN HE I_'aﬂ o] 3R Te=™ U R@W| / Each candidate must show on demand his/her
Admit Card [Roll No.] and identity card to the Invigilator.

15. &= ofed a1 qHaud @ 9w aqgwi%r % fomm ﬁ'% et ST WM T éﬁ%ﬁ / No candidate, without special permission of the

Superintendent or Invigilator, should leave his/her seat.

16. FHERG THAEh B AT I T [U B 06 BEER G W AR eRER U R ol olen e T eieh Ak el erwedt 1
A0 R WK A W EWRR Te Y qF a8 qA O % I IO T AE Adern & AR Fe Sfd | H A qE S
OMR T % 7 FHiRg @M R ¥ 7wl art a1 e & SfS &1 MM @ oI 81 oS & Femey T & &6 919 &
& @l WY @ 9 A & & &g oy oniq @l # AEn 7 9gd 3 & q 7 & §gd B / The candidates should not
leave the Examination Hall without handing over their Answer Sheet to the Invigilator on duty and signing the Signature Chart
twice. Cases where a candidate has not signed the Signature Chart second time will be deemed not to have handed over the
Answer Sheet and dealt with as an unfair means case. All candidates have to affix left hand thumb impression on the OMR
answer sheet at the place specified which should be properly inked i.e. they should not be either over inked or dried in
nature.

11. s@a@*‘rﬁm/mﬁﬁ UReheih 1 SUANT AT 81 / Use of Electronic/Manual Calculator is prohibited.

18. YN & 7 RV & [, v Rerem # & ® ubk/Ren-Few @ 9% & @9 e @ R @ RS e @ ogRa aner &
ol AR # e 9% 3wt o e @ FEAR 8Tl / The candidates are governed by Guidelines/Procedure given in the
Information Bulletin, all Rules and Regulations of the Board with regard to their conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and Regulations of the Board.

19. el e & QQ:T—W AN TR TF H Eh:fg AT ST 7 & (No part of the Question Booklet and Answer Sheet shall be detached
under any circumstances.

20. TOET @O BN W, ol e/ Bie § U4 IR TS Fe-Tdawd B ofaed A 31 ond oTR | 36 Ue-gRaE @ & o we
% /on completion of the test, the candidate must hand over the Answer Sheet to the Invigilator in the Room/Hall. The candidates
are allowed to take away this Question Booklet with them.
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